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PASSAGE 
Paris  –  Nearly  two  years  have  passed  since  France's 
then-foreign minister, Laurent Fabius, struck his gavel 
and declared: "The Paris agreement for the climate is 
___(1)___accepted." Next week, President Emmanuel 
Macron  and  the  French  government  will  host  world 
leaders and non-state actors for the One Planet 
Summit. The purpose of this ___(2)___protecting is to 
celebrate climate gains made since 2015, and to boost 
political and economic support for meeting the goals 
and targets of the Paris agreement. The Paris climate 
agreement, a historic feat of diplomacy that 
___(3)___adieus in a new era of international climate 
___(4)___infringement, was facilitated by a number of 
political and social forces. One of the most 
___(5)___influential of these was a group of more than 
100 countries known as the "high 
___(6)___satisfaction coalition," which helped finalize 
the deal in the waning days of the 2015 United Nations 
Climate Change Conference (COP21). This 
___(7)___conforming  coalition  of  leaders  –  from  the 
richest countries to the most ___(8)___conserve 
Pacific island states – broke a political 
___(9)___deadlock that had impeded climate progress 
for years, if not decades. As we reflect on that success, 
one thing is abundantly clear: the need for ambitious 
coalitions  has  returned.  Strong  global  leadership  on 
climate change scored a diplomatic victory two years 
ago,  and  today,  new  economic  and  political  alliances 
are needed to turn those ___(10)___assignments into 
action. 
 
1) Choose the correct word which fits the blank (1)? 
a) parting  b) humility 
c) despise  d) exclude 
e) No correction required 
 
2) Choose the correct word which fits the blank (2)? 
a) contentment  b) gathering 
c) scorning  d) scoff 
e) No correction required 
 

3) Choose the correct word which fits the blank (3)? 
a) jettison  b) repudiate 
c) gathering  d) salutation 
e) No correction required. 
 
4) Choose the correct word which fits the blank (4)? 
a) disdain  b) discredit 
c) collaboration  d) dereliction 
e) No correction required 
 
5) Choose the correct word which fits the blank (5)? 
a) rebuff  b) repulse 
c) valediction  d) apathy 
e) No correction required. 
 
6) Choose the correct word which fits the blank (6)? 
a) ambition  b) scrap 
c) slough  d) chuck 
e) No correction required. 
 
7) Choose the correct word which fits the blank (7)? 
a) spurn  b) diverse 
c) parallel  d) rebellion 
e) No correction required. 
 
8) Choose the correct word which fits the blank (8)? 
a) sabotage  b) dissension 
c) vulnerable  d) bulwark 
e) No correction required. 
 
9) Choose the correct word which fits the blank (9)? 
a) mutiny  b) sentinel 
c) indiscipline  d) hedge 
e) No correction required. 
 
10) Choose the correct word which fits the blank (10)? 
a) commitments b) insulates 
c) shelter  d) stonewall 
e) No correction required 
 
Direction: 
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The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
each blanks with its particular number, out of the five 
alternatives. 
 
PASSAGE 
The weaker sections of the rural population are mostly 
from the socially and economically backward and 
____(1)____ sections of the village community. 
Because  of  their  ____(2)____  and  financial  difficulty, 
they are not readily ____(3)____ to change their work 
habits and adopt modern technology. ____(4)____ 
sure about the traditional methods, they are 
____(5)____  to  take  to  ____(6)____  equipment  and 
techniques which require some time to get 
accustomed  for ____(7)____ work. After holding  a 
number of group meetings with rural people 
____(8)____ to different vocations and spread over the 
entire country, we can safely say that persons in the 
villages  are  not  ____(9)____  for  training  to  improve 
upon their traditional and hereditary ____(10)____ of 
working. 
 
11) Choose the correct answer from the given options 
to fill the blank with number (1)? 
a) depressed  b) different 
c) rich   d) privileged 
e) forward 
 
12) Choose the correct answer from the given options 
to fill the blank with number (2)? 
a) ability  b) dependence 
c) illiteracy  d) number 
e) majority 
 
13) Choose the correct answer from the given options 
to fill the blank with number (3)? 
a) discarding  b) feeling 
c) bending  d) undertaking 
e) willing 
 

 
14) Choose the correct answer from the given options 
to fill the blank with number (4)? 
a) Making  b) Having 
c) Quite   d) Being 
e) Not 
 
15) Choose the correct answer from the given options 
to fill the blank with number (5)? 
a) forced  b) reluctant 
c) bound  d) prepared 
e) curious 
 
16)Choose the correct answer from the given options 
to fill the blank with number (6)? 
a) farming  b) traditional 
c) improved  d) powerful 
e) old 
 
17) Choose the correct answer from the given options 
to fill the blank with number (7)? 
a) routine  b) monotonous 
c) excessive  d) wasteful 
e) effective 
 
18) Choose the correct answer from the given options 
to fill the blank with number (8)? 
a) accruing  b) helping 
c) enabling  d) belonging 
e) referring 
 
19) Choose the correct answer from the given options 
to fill the blank with number (9)? 
a) eager  b) capable 
c) indifferent  d) antagonistic 
e) unwilling 
 
20) Choose the correct answer from the given options 
to fill the blank with number (10)? 
a) theories  b) techniques 
c) desires  d) hours 
e) policies 
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Direction: 
The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
each blanks with its particular number, out of the five 
alternatives. 
PASSAGE 
The major central banks' _____(1)_____negligent 
pursuit  of  positive  but  low  inflation  has  become  a 
dangerous _____(2)_____delusion. It is dangerous 
because the policies needed to achieve the objective 
could have unwanted side effects; and it is a delusion 
because there is currently no good reason to be 
pursuing the objective in the first place. In the 1970s, 
when inflation in the advanced economies rose 
sharply, central banks rightly _____(3)_____adhere it. 
The lesson central bankers took from that battle was 
that low inflation is a necessary condition for sustained 
growth.  But,  subtly  and  over  time,  this  lesson  has 
_____(4)_____morphed into a belief that low inflation 
is also a sufficient condition for sustained growth. That 
change  may  have  been  due  to  the  benign  economic 
conditions that accompanied the period of disinflation 
from the late 1980s to 2007, commonly 
_____(5)_____suppress to as the "Great Moderation". 
 
For central bankers, it was comforting to believe that 
they had reduced inflation by controlling demand, and 
that their policies had many beneficial side effects for 
the economy. After all, this was the demand-oriented 
_____(6)_____  refrain  they  had  used  to  justify  tight 
money  to  begin  with.  But  then  the  world  changed. 
From the late 1980s onward, low inflation was largely 
due to positive supply-side shocks – such as the Baby 
Boomer-fueled expansion of the labor force and 
the_____(7)_____hostility of many emerging countries 
into  the  global  trading  system.  These  forces  boosted 
growth while lowering inflation. And monetary policy, 
far from restricting demand, was generally focused on 
preventing  below-target  inflation.  As  we  now  know, 
that led to a period of  easy monetary conditions, 

which, together with financial deregulation and 
technological developments, _____(8)_____sowed the 
seeds  of the 2007 financial crisis and the ensuing 
recession. The fundamental analytical error then – as it 
still is today – was a failure to _____(9)_____degrade 
between alternative sources of disinflation. The end of 
the Great _____(10)_____indulgence should have 
disabused policymakers of their belief that low 
inflation guarantees future economic stability. If 
anything, the opposite has been true. Having doubled 
down on their inflation targets, central banks have had 
to rely on an unprecedented array of untested policy 
instruments to achieve their goals. 
 
21) Identify the exact word for the blank (1)? 
a) breach  b) antagonization 
c) vigilant  d) impulsive 
e) No correction required. 
 
22) Identify the exact word for the blank (2)? 
a) discreet  b) surefire 
c) withdrawal  d) humble 
e) No correction required 
 
23) Identify the exact word for the blank (3)? 
a) attentive  b) intensity 
c) conviction  d) resisted 
e) No correction required. 
 
24) Identify the exact word for the blank (4)? 
a) authoritativeness b) outrageousness 
c) credence  d) dogmatism 
e) No correction required. 
 
25) Identify the exact word for the blank (5)? 
a) staunchness  b) referred 
c) intemperance d) assent 
e) No correction required. 
 
26) Identify the exact word for the blank (6)? 
a) narrative  b) steadiness 
c) acquiesce  d) wildness 
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e) No correction required. 
 
27) Identify the exact word for the blank (7)? 
a) debase  b) alienation 
c) integration  d) inhibit 
e) No correction required. 
 
28) Identify the exact word for the blank (8)? 
a) inevitability  b) knuckle 
c) bidding  d) belittle 
e) No correction required 
 
29) Identify the exact word for the blank (9)? 
a) accede  b) disunity 
c) forbear  d) distinguish 
e) No correction required 
 
30) Identify the exact word for the blank (10)? 
a) prevent  b) withholding 
c) schism  d) Moderation 
e) No correction required 
 
Direction: 
The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
each blanks with its particular number, out of the five 
alternatives. 
 
PASSAGE 
The urgent need of the hour is to ____(1)____ up the 
moral ____(2)____ of our society in general and of our 
student  community  in  particular,  if  we  want  to  save 
ourselves and our society from the present 
____(3)____  of  mass  indiscipline  and  ____(4)____  of 
basic human values, which has become a ____(5)____ 
phenomenon.  We  must,  therefore,  ____(6)____  and 
practice the most ____(7)____ basic human values like 
cooperation,  tolerance,  patriotism,  generosity,  truth, 
justice and excellence—the ideals which are universal 
in nature and which are ____(8)____ in themselves and 
which are worthy of ____(9)____ for their own sake. 

These  ideals  are  both  personally  as  well  as  socially 
____(10)____. 
 
 
31) Identify the correct answer(1)? 
a) give  b) stand c) jack 
d) climb  e) tone 
 
32) Identify the correct answer(2)? 
a) fibre    b) enactment 
c) reconstruction d) situation 
e) appreciation 
 
33) Identify the correct answer(3)? 
a) polarization  b) degradation 
c) chaos  d) provocation 
e) sentiments 
 
34) Identify the correct answer(4)? 
a) calamity  b) focus 
c) realization  d) erosion 
e) criticism 
 
35) Identify the correct answer(5)? 
a) durable  b) universal 
c) perpetual  d) segmental 
e) prolific 
 
36) Identify the correct answer(6)? 
a) incorporate  b) induce 
c) implicate  d) inculcate 
e) involve 
 
37) Identify the correct answer(7)? 
a) absorbing  b) cherished 
c) introspective  d) famous 
e) productive 
 
38) Identify the correct answer(8)? 
a) distinctive  b) appreciated 
c) formative  d) helping 
e) end 
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39) Identify the correct answer(9)? 
a) evolving  b) spreading 
c) esteem  d) wisdom 
e) popularity 
 
40) Identify the correct answer(10)? 
a) desirable  b) manageable 
c) redundant  d) vulnerable 
e) possible 
 
Direction: 
The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
each blanks with its particular number, out of the five 
alternatives. 
 
PASSAGE 
A good percentage of the population of India is tribal. 
The tribals live in the hills and forests of the country 
and have been little ____(1)____ by the ____(2)____ 
currents of the plains. Practically all the states of India 
have their tribal population. The tribes are numerous, 
computed to be about 200, some living in ____(3)____ 
regions in dense forests, and others on the borders of 
villages.  Some  tribes  are  ____(4)____  to a  few  souls, 
while others like the Santhals, run into millions and are 
steadily  ____(5)____  in  numbers.  During  the  British 
period some of them were known as 'criminal tribes' 
for  they  showed  ____(6)____  respect  for  the  Indian 
Penal Code. After independence they have been 
named  Scheduled  Tribes.  Under  modern  conditions 
isolation, however, has become ____(7)____ and the 
hill tribes are getting ____(8)____. The cultural traffic 
is two way. Social reformers are taking civilization to 
the hills, and the tribes, ____(9)____ their old 
occupations of hunting and ____(10)____ farming, are 
settling  in  villages,  towns and  cities  as  labourers  and 
industrial workers. 
 
41) Find the missing word for the blank (1)? 

a) affected  b) domiciled 
c) motivated  d) deprived 
e) favoured 
 
42) Find the missing word for the blank (2)? 
a) financial  b) proud 
c) cultural  d) unruly 
e) swift 
 
43) Find the missing word for the blank (3)? 
a) comfortable  b) marshy 
c) wild   d) unpopulated 
e) inhospitable 
 
44) Find the missing word for the blank (4)? 
a) devoted  b) confined 
c) susceptible  d) related 
e) attached 
 
45) Find the missing word for the blank (5)? 
a) constant  b) deteriorated 
c) developing  d) increasing 
e) decreasing 
 
46) Find the missing word for the blank (6)? 
a) abundant  b) genuine 
c) superficial  d) exorbitant 
e) scant 
 
47) Find the missing word for the blank (7)? 
a) crucial  b) necessary 
c) difficult  d) convenient 
e) indispensable 
 
48) Find the missing word for the blank (8)? 
a) civilized  b) demoralised 
c) wiped-out  d) entertained 
e) reduced 
 
49) Find the missing word for the blank (9)? 
a) escaping  b) with 
c) enhancing  d) leaving 



  

Copyright © All Rights Reserved | https://www.spardha.guru 

spardhaguru2022 Spardhaguru Current affairs 

SpardhaGuru Spardha.guru 

Spardhaguru1 
www.spardha.guru 

English  

Page | 6 

e) continuing 
 
50) Find the missing word for the blank (10)? 
a) productive  b) primitive 
c) profitable  d) cultivable 
e) scientific 
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